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2. Use the midpoint rule with n = 3 to approximate, the area of the region bounded

by the graph of f(z) = sin 7z and the z-axis over {O, g]
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3. When evaluating the limit of Z (1 + -2) Az, as | Az ||— 0 over [1,5], where ¢;
i=1
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is any point in the i subinterval, the value is equal to:
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5. Given that / z3dx = A and / z dx = B, the integral of / (6|9:| — éxg) dx =
2 2 2
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6. The constant ¢, that is guaranteed by the mean value theorem of Integral of f(z) =
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_ /021' cost!dt, then F'(z) = :#‘ 8 6 /P# ‘gg &
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16. The area of the region bounded between y; = (z — 1) and ¥, = z — 1 is equal to
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17. If A is the exact region bounded between the two curves f(z) = cosz and g(z) =
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